WRITE A PROGRAM TO IMPLEMENT ARRAY
Input:

#include<stdio.h>

#include<conio.h>

int  a[100],len;

void insert();

void del();

void traverse();

void main()

{

int choice,ch,i;

clrscr();

printf("\nEnter integers to be read\t");

scanf("%d",&len);

printf("\nEnter integers\t");

for(i=0; i<len;i++)

{

scanf("%d",&a[i]);

}

do{

printf("\n1. Insert an element in array");

printf("\n2. Delete an element from array");

printf("\n3. Traverse the array");

printf("\n Choice Entered by You is\t");

scanf("%d",&choice);

switch(choice)

{

case 1:

insert();

break;

case 2:

del();

break;

case 3:

traverse();

break;

default:

printf("\nWrong Choice!!!!!!!");

}

printf("\nIf u want to continue press 1\t");

scanf("%d",&ch);

}

while(ch==1);

}

void insert()

{

int num, pos,i;

printf("\nEnter integer to be inserted\t");

scanf("%d",&num);

printf("\nEnter position in the array for insertion\t");

scanf("%d",&pos);

--pos;

for(i=len-1;i>=pos;i--)

{

a[i+1]=a[i];

}

a[pos]=num;

if(pos>len)

{

printf("Insertion outside the array");

}

++len;

}

void del()

{

int item, j, pos;

printf("\nOn which position element do you want to delete\t");

scanf("%d",&pos);

--pos;

item=a[pos];

for(j=pos; j<len;j++)

{

a[j]=a[j+1];

}

len=len-1;

printf("\nDeleted element is %d",item);

}

void traverse()

{

int i;

for(i=0; i<len; i++)

{

printf("%d ",a[i]);

}

}

Output:

Enter integers to be read       5

Enter integers  1 2 3 4 5

1. Insert an element in array

2. Delete an element from array

3. Traverse the array

 Choice Entered by You is       1

Enter integer to be inserted    8

Enter position in the array for insertion       3

If u want to continue press 1   1

1. Insert an element in array

2. Delete an element from array

3. Traverse the array

 Choice Entered by You is       3

Elements of array are:  1 2 8 3 4 5

If u want to continue press 1   1

1. Insert an element in array

2. Delete an element from array

3. Traverse the array

 Choice Entered by You is       2

On which position element do you want to delete 3

Deleted element is 8

If u want to continue press 1   1

1. Insert an element in array

2. Delete an element from array

3. Traverse the array

 Choice Entered by You is       3

Elements of array are:  1 2 3 4 5

If u want to continue press 1

WRITE A PROGRAM FOR MERTING OF TWO ARRAYS
Input:

#include<stdio.h>

#include<conio.h>

void main()

{

int p, q, m, n, c;

int array1[100], array2[100], array3[200];

clrscr();

puts("Enter number of elements of the first array");

scanf("%d",&p);

puts("Enter elements of the first array");

for(m=0; m<=p-1; m++)

scanf("%d",&array1[m]);

puts("Enter number of elements of the second array");

scanf("%d",&q);

puts("Enter elements of the second array");

for(n=0; n<=q-1; n++)

scanf("%d",&array2[n]);

c=0;

m=0;

n=0;

while((m<p)&&(n<q))

{


if(array1[m]<=array2[n]){

array3[c]=array1[m++];

c++;


}

else {

array3[c]=array2[n++];

c++;

}

}

while(m<p)

{

array3[c]=array1[m];

c++;

m++;

}

while(n<q)

{

array3[c]=array2[n];

c++;

n++;

}

puts("Merged array in ascending order");

for(m=0; m<=c-1; m++)

printf("%d\n",array3[m]);

getch();

}

Output:

Enter number of elements of the first array

5

Enter elements of the first array

1 3 4 6 8

Enter number of elements of the second array

4

Enter elements of the second array

2 5 7 9

Merged array in ascending order

1

2

3

4

5

6

7

8

9

WRITE A PROGRAM TO IMPLEMENT STACK USING ARRAY
Input:

#include<stdio.h>

#include<conio.h>

#define maxsize 10

void push();

int pop();

void traverse();

int stack[maxsize];

int top=-1;

void main()

{

int choice;

int ch;

clrscr();

do

{

printf("\n1.Push \n2.Pop \n3.Traverse");

printf("\nEnter your choice\t");

scanf("%d",&choice);

switch(choice)

{

case 1:

push();

break;

case 2:

printf("\nThe deleted element is   %d", pop());

break;

case 3:

traverse();

break;

default:

printf("\nWrong Choice!!!!!!!!!");

}

printf("\nIf you want to continue press 1\t");

scanf("%d",&ch);

getch();

}

while(ch==1);

}

void push()

{

int item;

if(top<maxsize-1)

{

printf("Enter the element to be inserted\t");

scanf("%d",&item);

top=top+1;

stack[top]=item;

}

else

{

printf("\nThe Stack is Full");

getch();

}

}

int pop()

{

int item;

if(top==-1)

{

printf("The Stack is Empty");

getch();

}

else

{

item=stack[top];

top=top-1;

}

return(item);

}

void traverse()

{

int i;

if(top==-1)

{

printf("The stack is empty");

getch();

}

else

{

for(i=top; i>=0;i--)

{

printf("\n%d",stack[i]);

}

}

getch();

}

Output:

1.Push

2.Pop

3.Traverse

Enter your choice       1

Enter the element to be inserted        1

If you want to continue press 1 1

1.Push

2.Pop

3.Traverse

Enter your choice       1

Enter the element to be inserted        2

If you want to continue press 1 1

1.Push

2.Pop

3.Traverse

Enter your choice       1

Enter the element to be inserted        3

If you want to continue press 1 1

1.Push

2.Pop

3.Traverse

Enter your choice       3

3

2

1

If you want to continue press 1 1

1.Push

2.Pop

3.Traverse

Enter your choice       2

The deleted element is   3

If you want to continue press 1 
WRITE A PROGRAM TO IMPLEMENT QUEUE USING ARRAY
Input:

#include<stdio.h>

#include<conio.h>

int queue[5],ch,i;

long front, rear;

void main()

{

int choice, info;

clrscr();

front=-1;

rear=-1;

do{

printf("\nMenu");

printf("\n1. Insert an element in queue");

printf("\n2. Delete an element in queue");

printf("\n3. Display the queue");

printf("\nYour choice\t");

scanf("%d",&choice);

switch(choice){

case 1: if (rear<4)

{

printf("Enter the number\t");

scanf("%d",&info);

if (front==-1)

{

front=0;

rear=0;

}

else{

rear=rear+1;

}

queue[rear]=info;

}

else{

printf("Queue is full");

}

printf("\nPress 1 to continue\t");

scanf("%d",&ch);

getch();

break;

case 2:

if (front!=-1)

{

info=queue[front];

if(front==rear)

{

front=-1;

rear=-1;

}

else

front=front+1;

printf("No deleted is = %d\n",info);

}

else

printf("Queue is empty");

printf("\nPress 1 to continue\t");

scanf("%d",&ch);

getch();

break;

case 3:

for(i=front; i<=rear; i++)

printf("%d\n",queue[i]);

printf("\nPress 1 to continue\t");

scanf("%d",&ch);

getch();

break;

default:

printf("Wrong choice!!!!");

printf("\nPress 1 to continue\t");

scanf("%d",&ch);

getch();

break;

}

}

while(ch==1);

}

Output:

Menu

1. Insert an element in queue

2. Delete an element in queue

3. Display the queue

Your choice     1

Enter the number        1

Press 1 to continue     1

Menu

1. Insert an element in queue

2. Delete an element in queue

3. Display the queue

Your choice     1

Enter the number        2

Press 1 to continue     1

Menu

1. Insert an element in queue

2. Delete an element in queue

3. Display the queue

Your choice     3

1

2

Press 1 to continue     1
Menu

1. Insert an element in queue

2. Delete an element in queue

3. Display the queue

Your choice     2

No deleted is = 1

Press 1 to continue
WRITE A PROGRAM TO IMPLEMENT LINKED LIST

Input:

#include<stdio.h>

#include<conio.h>

#include<malloc.h>

struct node

{

int info;

struct node *next;

};

typedef struct node NODE;

NODE *start;

void createmptylist(NODE **start)

{

*start=(NODE *)NULL;

}

void traversinorder(NODE *start)

{

printf("Info part\tAddress Part\n");

while(start != (NODE *) NULL)

{

printf("%d\t\t",start->info);

printf("%d\n",start->next);

start=start->next;

}

}

void insertatbegin(int item)

{

NODE *ptr;

ptr=(NODE *)malloc(sizeof(NODE));

ptr->info=item;

if(start==(NODE *)NULL)

ptr->next=(NODE *)NULL;

else

ptr->next=start;

start=ptr;

}

void dele_spe(NODE *start)

{

NODE *ptr,*loc;

int temp;

printf("\nEnter the which element do you want to delete\t");

scanf("%d",&temp);

ptr=start;

if(start==NULL)

{

printf("Empty list\n");

}

else

{

loc=ptr;

while(ptr!=NULL)

{

if(ptr->info==temp)

{

loc->next=ptr->next;

free(ptr);

}

loc=ptr;

ptr=ptr->next;

}

}

}

void main()

{

int choice,item,after;

int ch;

clrscr();

createmptylist(start);

do

{

printf("1.Insert element at begin \n");

printf("2.Travers the list in order\n");

printf("3.Delete the specific element\n");

printf("Enter your choice\t");

scanf("%d",&choice);

switch(choice)

{

case 1:

printf("Enter the item\t");

scanf("%d",&item);

insertatbegin(item);

break;

case 2:

printf("\ntravers the list\n");

traversinorder(start);

break;

case 3:

printf("Delete the element");

dele_spe(start);

break;

default:

printf("Wrong Choice!!!!!!!!!!!");

}

printf("Press 1 to continue");

scanf("%d",&ch);

}while(ch==1);

getch();

}
Output:

1.Insert element at begin

2.Travers the list in order

3.Delete the specific element

Enter your choice       1

Enter the item  1

Press 1 to continue1

1.Insert element at begin

2.Travers the list in order

3.Delete the specific element

Enter your choice       1

Enter the item  2

Press 1 to continue1

1.Insert element at begin

2.Travers the list in order

3.Delete the specific element

Enter your choice       1

Enter the item  3

Press 1 to continue1

1.Insert element at begin

2.Travers the list in order

3.Delete the specific element

Enter your choice       2

travers the list

Info part       Address Part

3               2144

2               2136

1               0

Press 1 to continue1

1.Insert element at begin

2.Travers the list in order

3.Delete the specific element

Enter your choice       3

Delete the element

Enter the which element do you want to delete   2

Press 1 to continue1

1.Insert element at begin

2.Travers the list in order

3.Delete the specific element

Enter your choice       2

travers the list

Info part       Address Part

3               2136

1               0

Press 1 to continue
WRITE A PROGRAM TO IMPLEMENT BINARY SEARCH TREE

Input:

#include<stdio.h>

struct rec

{

long num;

struct rec *left;

struct rec *right;

};

struct rec *tree=NULL;

struct rec *insert(struct rec *tree,long num);

void preorder(struct rec *tree);

void inorder(struct rec *tree);

void postorder(struct rec *tree);

int count=1;

main()

{

int choice;

long digit;

do

{
choice=select();
switch(choice)

{

case 1: puts("Enter integer: To quit enter 0");

scanf("%ld",&digit);

while(digit!=0)

{

tree=insert(tree,digit);

scanf("%ld",&digit);

}continue;

case 2: puts("\npreorder traversing TREE");

preorder(tree);continue;

case 3: puts("\ninorder traversing TREEE");

inorder(tree);continue;

case 4: puts("\npostorder traversing TREE");

postorder(tree);continue;

case 5: puts("END");exit(0);

}

}while(choice!=5);

}

int select()

{

int selection;

do

{

puts("Enter 1: Insert a node in the BT");

puts("Enter 2: Display(preorder)the BT");

puts("Enter 3: Display(inorder)the BT");

puts("Enter 4: Display(postorder)the BT");

puts("Enter 5: END");

puts("Enter your choice");

scanf("%d",&selection);

if((selection<1)||(selection>5))

{

puts("wrong choice:Try again");

getch(); }

}while((selection<1)||(selection>5));

return (selection);

}

struct rec *insert(struct rec *tree,long digit)

{

if(tree==NULL)

{

tree=(struct rec *)malloc(sizeof(struct rec));

tree->left=tree->right=NULL;

tree->num=digit;count++;

}

else

if(count%2==0)

tree->left=insert(tree->left,digit);

else

tree->right=insert(tree->right,digit);

return(tree);

}

void preorder(struct rec *tree)

{

if(tree!=NULL)

{

printf("%12ld\n",tree->num);

preorder(tree->left);

preorder(tree->right);

}

}

void inorder(struct rec *tree)

{

if(tree!=NULL)

{

inorder(tree->left);

printf("%12ld\n",tree->num);

inorder(tree->right);

}

}

void postorder(struct rec *tree)

{

if(tree!=NULL)

{

postorder(tree->left);

postorder(tree->right);

printf("%12ld\n",tree->num);

}

}
Output:

Enter 1: Insert a node in the BT

Enter 2: Display(preorder)the BT

Enter 3: Display(inorder)the BT

Enter 4: Display(postorder)the BT

Enter 5: END

Enter your choice

1

Enter integer: To quit enter 0

2

0

Enter 1: Insert a node in the BT

Enter 2: Display(preorder)the BT

Enter 3: Display(inorder)the BT

Enter 4: Display(postorder)the BT

Enter 5: END

Enter your choice

1

Enter integer: To quit enter 0

2

3

4

5

6

0

Enter 1: Insert a node in the BT

Enter 2: Display(preorder)the BT

Enter 3: Display(inorder)the BT

Enter 4: Display(postorder)the BT

Enter 5: END

Enter your choice

2

preorder traversing TREE

           2

           2

           4

           6

           3

           5

Enter 1: Insert a node in the BT

Enter 2: Display(preorder)the BT

Enter 3: Display(inorder)the BT

Enter 4: Display(postorder)the BT

Enter 5: END

Enter your choice

5

